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Write all answers in your blue book. Show all of your work.

 

 

 

 

 

1. (15pts) In "An Inquiry into the Nature and Causes of the Wealth of Nations," Adam Smith notes that seigniorage can produce a "universal revolution in the fortune of private persons." Define seigniorage, and explain how peoples' fortunes were affected by seigniorage. How did these effects depend on whether or not people anticipated the seigniorage?

 

 

 

 

2. (25pts) In "Deflating the Case for Zero Inflation" Rao Aiyagari states that his "review of the available relevant economic theory and evidence demonstrates that the case for a shift to the proposed policy of zero inflation is, at best, weak." Describe the theory and evidence that Aiyagari cites to support this conclusion.

 

 

 

 

3. Consider the Pure Expectations (PE) Theory of the term structure of interest rates. Consider also the fact that interest rate forecasts using PE are systematically biased.

 

(a) (5pts) In what direction are these forecasts biased?

 

(b) (20pts) Why are the forecasts biased? Explain thoroughly.

 

(c) (5pts) Why do forecasters use PE to forecast interest rates despite the bias in the forecasts?

 

 

 

 

4. (5pts) Define the Real Bills Doctrine. 

 

(b) (10pts) With reference to the Quantity Theory of Money, describe how adherence to the Real Bills Doctrine maintains price level stability.

 

(c) (10pts) What problems did Federal Reserve adherence to the Real Bills Doctrine cause during the Great Depression?

 

 

5. (20pts) Congress frequently changes the capital gains tax rate. These frequent changes leave owners of capital uncertain about the tax rate they would have to pay on the profits (capital gains) earned from future sales of capital assets. When Congress lowers the capital gains tax rate, capital owners frequently rush to take advantage of these low rates, selling many capital assets and generating considerable tax revenue. When Congress raises the capital gains tax rate, tax revenues from capital gains sometimes fall as people delay capital asset sales. Suppose you are a junior economist working for a Congressman who plans to propose legislation to lower the capital gains tax rate. Your boss has gotten his hands on an econometric study showing that in the past, a one percent reduction in the capital gains rate earned an extra $20 billion dollars in capital gains tax revenue during the year the tax rate was cut. Your boss is therefore proposing legislation that would lower the current capital gains tax rate by one percent per year, for ten years. Your boss is about to stand up in front of his Congressional colleagues and claim that his proposal will generate $20 billion in extra capital gains tax revenue for each of the next ten years. As his economic adviser, you realize that your boss's conclusion is subject to the Lucas critique on the use of econometrics in government policy evaluation. Write a memo to your boss in which you explain your reservations about the logic behind his policy suggestion.

 

 

 

 

6. The evidence on money growth and real output growth generally shows that increases in the money supply precede increases in real output, and that decreases in the money supply precede decreases in real output. 

 

(a) (20pts) How does the Monetarist Friedman Fooling Model account for the correlation between the money supply and real output? Explain, with reference to an aggregate demand-aggregate supply graph. 

 

(b) (20pts) How does the New Classical Lucas Island Model account for the correlation between the money supply and real output? Explain, with reference to an aggregate demand-aggregate supply graph. 

 

(c) (20pts) How do Real Business Cycle models account for the correlation between the money supply and real output? Explain.

 

 

 

 

7. (a) (10pts) Define the problem of time inconsistency. Provide a (non-monetary policy) example of the problem of time inconsistency. 

 

(b) (15pts) How is Federal Reserve policy subject to the problem of time inconsistency? Explain your answer.

